Checklist No.19

Scheme of Compensatory Afforestation

Details scheme of Compensatory Afforestation to be carried out in 10.00 Ha. Of double degraded forest land in lieu diversion of 32.00 Ha. Of reserve forest land for Leopard Park with Rescue Centre at Waghai the Dang District. The Proposal of Leopard Park with Rescue Centre at Waghai involve forestry and nonforestry activates, thereby as par the minutes of Meeting of Forest Advisory Committee dated 25.04.2017 there by NPV at the rate of 15% of total NPV and Compensatory Afforestation on 30% of the total area is proposed.

Details of degraded forest land / degraded forest land.

District: The Dang Village: Anjankund

Taluka: Ahwa

Name of Forest Division Dang South, Range: Galkund, Compartment No: 233, Felling Series: 28, Coupe No: 25

Survey No. 12

Description of Area.

Soil type Brown-Murom/geology-fractured basalt

Topography: Hilly

Slope : Medium to high

Whether the area is bearing any root stock of Vegetation Blank

Name of Plantation Program: Model-2

Schedule of Plantation Program:

The Compensatory Afforestation on degraded forest land. Would be started by Deputy Conservator of Forest Dang South division Ahwa 2017-18 as early as possible after the proposal is formally approved.

Details of Year wise break-up of requirement of fund is as under:

(As per daily wages rate Rs 207.60)

	s per daily wages	rate RS.297.60)	
Year	Area	Rate / ha.	Total Amount
0 Year	10.00	110005	1100050
1 st Year	10.00	38065	380650
2 nd Year	10.00	24589	245890
3 rd Year	10.00	18683	186830
4 th Year	10.00	7370	73700
5 th Year	10.00	4665	46650
6 th Year	10.00	4665	46650
7 th Year	10.00	4665	46650
8 th Year	10.00	4665	46650
9 th Year	10.00	4665	46650
10 th Year	10.00	4665	46650
Supervision Charge 20%	10.00	45340	453400
Total:	10.00	272042	2720420

The user Agency has given an undertaking to pay the cost of Compensatory Afforestation as per the prevailing wages (including the price escalation and supervision charges.)

Technical Details

Technical details of Compensatory Afforestation area as follows:

(a) General Details: Degraded Forest Land, Compartment

village Anjankund

(b) Spacing: 3.00 x 3.00 mt. & 6.00 x 3.00 mt.

(c) Species: As per Attached the statement.

(d) Nursery Technical: Polipot Nursery

(e) Site Preparation: Pits, Protection & Fencing etc.

(f) Plantation (Size of Pit. Ploughing etc.): Pits 30 x 30 x 30 cm.

SMC Works: (g) Check dam, Gabion structure Nala

banding, Contour bunding etc.

(h) Protection: Fencing, Watch, Ward and fire tracing

Tending and cultural operation and

further

(i) Silvicultural Operations: Thinning

(i) Maintenance: Cultural Operations & Protection.

(k) Subsequent Silvicultural: Operations proposed such cutbacks. as thinning etc. (as per species specific

requirement):

First Thinning – 15th Year Second Thinning -20th Year Third Thinning -30th Year Forth Thinning -50th Year

(1)Arrangement for people JFMC institution shall be wed participation (if any) for long term sustenance of the plantations:

(m) Proposed monitoring Internal mechanism:

Annual Monitoring Monitoring by Regional & State Agency. Third party monitoring of required.

Place: Ahwa

Date: 22/01/2018

(Dr.Dheeraj Mittal IFS) Deputy Conservator of Forests Dang South Division Ahwa

STATEMENT

Daily wage rate @ per day Dang South Division Ahwa

Sr. No.	Year: 2017-18	Rate/ ha.	Amount		
			(in Rs.)		
1	2	3	4		
1	0 year 70% Advance Work	77003	770030		
2	30% Plantation	33002	330020		
3	Maintanance 1 year old plantation	38065	380650		
4	Maintanance 2 year old plantation	24589	245890		
5	Maintanance 3 year old plantation	18683	186830		
6	Maintanance 4 year old plantation	7370	73700		
7	Maintanance 5 year old plantation	4665	46650		
8	Maintanance 6 year old plantation	4665	46650		
9	Maintanance 7 year old plantation	4665	46650		
10	Maintanance 8 year old plantation	4665	46650		
11	Maintanance 9 year old plantation	4665	46650		
12	Maintanance 10 year old plantation	4665	46650		
	Total:	226702	2267020		
13	20% Supervision Charge	45340	453400		
	Grand Total:	272042	2720420		

Place : Ahwa,

Date:22/01/2018.

AL

(Dr Dheeraj MIttal) Deputy Conservator of Forests Dang South Division Ahwa

STATEMENT

Sr.	Subject of Proposal	T T						SIAIE	MENT								
No.	Subject of Proposal	На.	70% Advance work	30% Current Plantation	1 year mainta- nance	2 year mainta- nance Support watering	3 year mainta- nance Support watering	4 year mainta- nance Support watering	5th year mainta- nance Support watering	6th year mainta- nance Support	7th year mainta- nance Support	8th year mainta- nance Support	9th year mainta- nance Support	10th year mainta- nance Support	20% Supervision Charge	Total Amount	Rema s
1	2	3	4	5	6	7	•	9		watering	watering	watering	watering	watering			
	Leopard Park with			The second		,	8	9	10	11	12	13	14	15	16	17	18
	Rescue Centre Waghai The Dang.	10.00	770030.00	330020.00	380650.00	245890.00	186830.00	73700.00	46650.00	46650.00	46650.00	46650.00	46650.00	46650.00	453400.00	2720420.00	printer.
	Total	10.00	770030.00	330020.00	200650.00					22 1 1 2 1 2 1 2 1 2 1						2, 20420.00	
			770300.00	330020.00	380650.00	245890.00	186830.00	73700.00	46650.00	46650.00	46650.00	46650.00	46650.00	46650.00	453400.00	2720420.00	

Place : Ahwa, Date :22/01/2018.

(Dr Dheeraj MIttal) Deputy Conservator of Forests Dang South Division Ahwa



The Statement showing balance sheet of Degraded forest area selected for compensatory afforestation in Dang South Division Ahwa

Sr. No.	Name of Division	Name of District	Name of Taluka	Name of Range	Name of Village	Caupe No.	Total Area in Ha.	Degraded Forest area From Total Forest area in Ha.	afforestation	Out standing Degraded Forest area in Ha.	Remarks
1	2	3	4	5	6	7	8	9	10	11	
1	Dang South	The Dang	Ahwa	Galkund	Anjankund	25	30.31	10	10	20.31	

Place: Ahwa,

Date:22/01/2018.

(Dr Dheeraj MIttal)

Deputy Conservator of Forests

Dang South Division Ahwa

